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In & house of 20 people, 8 liked Ampesi,

§ liked both Ampest and Fufu, 6 Banku

SECTION B
[ 60 marks |
{nswer five guestiony only Sfrom thix xecron

All guestions carr) equal marks

12 liked Banku and 12 liked Fufu

and Fufu, 2 only Ampesi and 3 liked all

three types of food

(al

ih)

()

(h)

fa)

(b)

{c)

[1lustrate the information on & Venn diagram.

Find the number of people in the house who liked:
(1) only fufu

(1) exactly two types;

(i11) only one tvpe of food

A man covers a distance of 8 km to a stadium in | howr. He walks part of

the distance at 6 Am/ and runs the rest at 10 km/h. How many kilometres

did he run?
A factory purchased # new machine at the cost of ¥ 3,000,000.00. In its operation,

it depreciates at the rate of 15 % in the first year and 20 % yearly thereafter.
Caleulate the value of the machine at the end of the third year.

Copy and complete the table of values for the relation y=2x —x2, -2 <x =4,

05 |1 |15 |2 |25 |3 |35 |4

N
(=

2 | =2/1=1.5]-1] -0:

v|-8 3 0 | 0-13| |-53

Using a scale of 2 om to 1 unit on both axes , draw the graph for
p=2x—x2,—2<x<4

Using the graph, find the:

(1) maximum point;

(i) line of symmetry,

(iii) range of values of x for which y> 0.

Marks 1=3: [4=6 7—9 |10—-12 13-15

Frequency | 8 3 6 2 1
The table shows the distribution of marks scored by students in a test.
Calculate the:
fa) mean;

(b)

mean deviation , of the distribution.
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12.

A boat l.s on the same horizontal level as the foot of a vertical tower. The angle of

depression of the boat from the top of the tower is 39°. 1f the boat is 30 m away

from the foot of the tower, : '

fa) illustrate the information in a diagram,

(h) find, correct to three significant figures, the height of the tower

(¢) If the boat moves further away to a new pusnimv\. P and the initial angle of
dcp!’CSSiO“ docreased by 5%, calculate the distance moved by the hzmi\lmm

its initial position.

A military tent is in the form of a pyramid with square base. The vertex of the temt, V
and the base ABCD is of side length 8 m. The angle between a sloping face and the
hase is 70° Calculate, correct to two decimal places, the:

ta) height of the tent;

(b) area of tarpaulin needed to cover the tent completely:
fc) total amount needed to buy the tarpaulin in 11¢5) if 3 m? of tarpaulin cost $7.20.

fa) W

NOT DRAWN TO SCALE

In the diagram, W.XYZ are points on a circle. [WX| = [WY, LXZY = 64%and
ZWXZ =38°. Find:

(i) ZWYX,

(i) ZYXZ.

(b) The probabilities that Afi and Naa will pass an aptitude test are 60 % and 80 %
respectively. Find, correct to one decimal place, the probability that:
(i) only one of them will pass the test; il

(ii) mone of them will pass.
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diagram, O is the centre of the circle AVP If
¢ L ’

, & metres, of water

above seg leve] at
=18~ 10sin (5x)°

0<x<]s, Find:
v when x =]

 significant figures, x When y =| 0,
"quilatera) triangle s 34 3 Find, corp
.,er.






